. =f1=o0#
U Y TLNT Y
= ¢ 40 50 60 YT ARYf—

AR

| ; |

g

F74RFIT—

3

BEH xRE
PT-40G PT-40GS PT-50T,M8X% 15 PT-40NS
HERERROLERZA-ITT, LIzl
y . [ -
o o b & 5]
ON INE Y o S I G B R & B
& & B W Hin H O|E BftE BT EE WAFFi& " & " v HEEFE FFAfE
D (mm) W (mm) H(mm) (mm) XxY (X' xY’) (mm) P (mm) E (mm) R(mm) [daN (kgf) ]
PT-40G 40 40.5 55 15 43 20(20.4)
38%38 25.4X25.4 5.1
PT-50G 50 45 65 18 51 30(30.6)
HAF A0
s W ror
PT-40GS 40 40.5 55 15 47 20(20.4)
38%38 25.4X25.4 5.1
PT-50GS 50 45 65 18 57 30(30.6)
b 912 s =
s Wi for
@|H | M | & | & | 8 al J| By
& B OB HiRE E g Bt Bl EvF- i R X$i " oD HEEFE BEGES
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R(mm) [daN (kef) ]
PT-40T,M8X% 15 50 M8 15 12.7
1.25
PT-40T,M12X 14 | 40 40.5 52 M12 14 19 15 43 20(20.4)
PT-40T,W3/8x 15 50 W3/8 16
15 12.7
PT-50T,M8X% 15 60 M8
1.25
PT-50T,M12X 14 50 45 62 M12 14 19 18 51 30(30.6)
b 1% = b
PT-50T,W3/8x15 L A=t 60 W3/8 16 15 127
PT-40TS,M8Xx 15 50 M8 15 12.7
1.25
PT-40TS,M12X 14 i 40 40.5 52 M12 14 19 15 47 20(20.4)
PT-40TS,W3/8%15 50 W3/8 16
15 12.7
PT-50TS,M8% 15 60 M8
1.25
PT-50TS,M12X 14 50 45 62 M12 14 19 18 57 30(30.6)
RAIFAOL
PT-50TS,W3/8%x 15 L (= 60 W3/8 16 15 12.7

O O Y S et

167



d3HLO

168

GlHE 4| I | 8 | a JB | ¥
& B W HinE E | Bt N TR I 3 "o HEEFE BEGES
D (mm) W (mm) H(mm) d(mm) L (mm) M (mm) E(mm) R(mm) [daN (kef) ]
PT-40N 40 40.5 49 15 43 20(20.4)
8 38
PT-50N 50 45 60 18 51 30(30.6)
HAFAO
L =
PT-40NS 40 40.5 49 15 47 20(20.4)
8 38
PT-50NS 50 45 60 18 57 30(30.6)
HALFAO
L (=
EE[7L -] HEZL-MRAb ] EEBURAR] EEBURSR A/ ]

=&

m

sl
™
4

o

a

&)

o | &

e/

'3

TXL

&

&

TXL

&

‘HE [ELAHR]

BE [ZUAGBR AN — (]

m
L

g

s






